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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 49
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Log-Log plot Of_differ_enti.al pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects'(when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drilihole 49
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
" there is no high velocity flow effect.
H Transect: Drillhole 50
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 50
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 51
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Relationship between steady-state differential pressures squared and flowrate:
If relationship js linear, with the ordinate intercept nearly zero,
~ there is no high velocity flow effect.
H Transect: Drillhole 52
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 51
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
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, Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drilthole 53
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 53
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero, '
there is no high velocity flow effect.
H Transect: Drillhole 54
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high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 54

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
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v Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
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If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Driljhole 55
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Relationship between steady-state differential pressures squared and flowrate:
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity vf‘l‘gw effects (when the slope is greater than unity)
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is hon-zero and positive.
H Transect : Drillhole 55
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
* there is no high velocity flow effect.
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 56
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Final check for high velocity flow effects:
High velocity row effects are present when the slope is non-zero and posmve
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Relationship between steady-state differential pressures squared and flowrate:
; If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.

H Transect: Drillhole 57

55

50 1-—— A(P?) = 0.0002Q% - 0.0581Q + 17.92
45 - : TR =1

40 |

- TH WL

35 A

30

—?0] \‘a.\

A(P?) = 6E-05Q% + 0.0321Q

A(P?) = 0.0678Q
25 | R* = 0.9591

R?>=0.8993

A(P?), psia®

201
1 A(P?) =0.0769Q - 5.061
| R*=0.9152

— T T T T T

0 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750
Q, cc/min

| 0 D(P2) =Poly. (D(P2)) =—Poly. (D(P2)) — Linear (D(P2)) —Linear (D(P2)) |

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects'(when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 57
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
~+«there is no high velocity flow effect.
H Transect: Drillhole 58
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 58
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and posmve
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Dridllhole 59
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Final check for high velocity flow effects: -
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 59
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 60
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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. Final check for high velocity flow effects: ‘
High velocity flow effects are present when thé slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 61
100 — ; ; ,, : r : —
1 | | | |
01 TA(P?) = 0.0003Q%-0.1102Q + 32.326]
; % &
0| R% =1 I
i 5 ; ‘ﬁ f (
3 | f | " | ~
2 o~ 60 4 S I
£ T (P2) - 0.0001Q7 + 0.0487Q) - |
o : . : ,
3 i R?=0. 9633
o ~N
e : ; ! | ; ' . M saliaasii
A I S N R R R \A(PZ) - 0.1148Q
|
20 N . R?=0.8908
01 A(P?) = 013570 11.63
10 f=== R? —09174 J
T
O h T T T T T T ‘r \r T T L  —  —
) 0 50 100 150 200 250 300 350 400 450 500 550 600 650 700 750
- o Q, cc/min
L

| O D(P2) =Poly. (D(P2)) ==Poly. (D(P2)) — Linear (D(P2)) = Linear (D(P2)) |

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope‘is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 61

1.32E-01 , T | T T T

@ ? [ ' i,

| ' | | | | : |
1.27E-01 1—— ‘Ep_g_ ““. — JI, .._._,M.w.-‘_.__ ;L_._M_ _iL_,_ . &' - !

| % 4
w2ear | A(P/Q = 4E-05Q + 0.0888 T
117E-01 + ) R =0.1967 5
112601 f
1.07E-01 Oj
1.02E-01 et -
9.70E-02 +—— 1
9.20E-02 | | | | |
8.70E-02 | - | R
8.20E-02 | | | | | Q | | | | |

150 200 250 300 350 400 450 500 550 600 650 700 750
Q, cc/min

| O D(P2)/)Q ——Linear (D(P2)/Q) = Linear (D(P2)/Q) |

~0 |l

If relatlonshlp is Imear, W|th the ordmate mtercept nearly zero,
~there is no high velocity flow effect.
H Transect: Drillhole 62
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 62
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Final check for high velocity flow effects:
High veI00|ty flow effects are present when the:slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 63
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-veloci,ty*flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 63
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Relationship between steady-state.differential pressures squared and flowrate:
If reIationshiQis linear, with the ordinate interce_pt nearly zero,
there is no high velocity flow effect.
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
: high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: . e
High velocity flow effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 65
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is-greater than unity)
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Final check for high velocity flow effects:

High velocity flow effects are present when the slope is non-zero and positive.

H Transect : Drillhole 65
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
“~~there is no high velocity flow effect.
H Transect: Drillhole 66
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differential pressures squared vs. flowrate--used to identify the presence of

-L lot of i
Log-Log p greater than unity)

high-velocity flow effects (when the slope is
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P

| | | | | | |
, 7 ! ! , .
: 2\y — | [ ,
o | logro(A(P?)) = 0.902410g+10(Q) - 07128, | |l o
B 1 | | |
| |
R? = 0.9063 | |
184 | . . "M;i -
16 4—— 1
1.5 14— 4, . ‘ E __-‘i__ i ' - |
| ‘ | | | | |
| | | | | | |
1.4 +——m— - : - - : — !- — --—T- _— - 1!
o | | | | |
| | | | |
" I i | | ‘I I I I 2 I70 2.75 2.80
2.25 2.30 2.35 2.40 2.45 2.50 2.55 2.60 2.65 . . .

l0g10(Q)

lfo log(D(P2)) ==Linear (log(D(P2))) ===Linear (log(D(Pém

r .

|

2.85

High velocity flow effects ar&‘ﬁmsenf when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 67
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Log-Log plot of diﬂ‘e,_reﬁtiél pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects- (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 67
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 68
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Log -Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High veloc1ty flow effects are present when the slope is non-zero and posmve
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 69
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high-velocity flow effects (when the S|ope is grater than n) '
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 69
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Relationship between steady-state differential pressures squared and flowrate:
If relatlonshlp is linear, with the ordinate intercept nearly zero,
= there is no high velocity flow effect.
H Transect: Drillhole 70
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 70
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: Final check for high velocity flow effects:
High velocity flow effects are-present when the slope is non-zero and positive.
— H Transect : Drillhole 70
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 71
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Log-Log plot o:.diﬁgrenti'al pressures squared vs. flowrate--uéed to identify tlhe presence of
igh-velocity flow effects (_when the slope is greater than unity)
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Final check for high velocity flow effects: -
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 71
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Relationship between éteady-state differential pressureé squared and flowrate:
If relationship is linear, vyith the ordinate intercept nearly zero,
there is no high velocity floweffect.
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 72
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 72
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 73
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects: B
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 73
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
~~there is no high velocity flow effect.
H Transect: Drillhole 74
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 74
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Final check for high velocity fl ‘
. -. ow effects:
High velocity flow effects are.present when the,siope is non

=zero and positive.
H Transect : Drillhole 74 positive
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 75
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Log-Log plot of_different’ial préssures squared vs. flowrate--ué‘éd to identify the presence of
high-velocity flow effects_ (when the slope is greater than unity)
H Transect: Drillhole 75
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 75
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Relationship between steady-state differential pressures squared and rowrate
If relatlonshlp is linear, with the ordinate intercept nearly zero,
““there is no high velocity flow effect.
H Transect: Drillhole 76

24 I 1 1 [
| | | | 1

!
| | * —
BN ‘__ _ APY = 8E 0507 - 00461Q+ 14.132

j ; i : ! R? =1
- ' ! | ﬁ
2 61 AP?) = 3E-05Q% + 0.0133Q ——
< | R?=0.9711 [
< | (P3) = 0.0291Q
‘,J

AP =0. O384Q 5. 2362]
R*=0. 9421

350 400 450 500 550 600 650 700 750
Q, cc/min :

| 0 D(P2) =—Poly. (D(P2)) =Poly. (D(P2)) — Linear (D(P2)) = Linear (D(P2)) |




\60\‘%\%’\»1N‘6

Ta) | ) W Y)

L )

—
=
£
—
Q
Q
=
3
[72]
o3
c
=
o~
=
<

Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 76
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Final check for high velocity flow effects:
High velocity flq.\‘fy effects are present when the slope is non-zero and positive.
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
there is no high velocity flow effect.
H Transect: Drillhole 77
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of

high-velocity flow effects (when the slope is greater than unity)
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Final check for high velocity flow effects:
High velocity flow effects are present when the slope is non-zero and positive.
H Transect : Drillhole 77
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Relationship between steady-state differential pressures squared and flowrate:
If relationship is linear, with the ordinate intercept nearly zero,
. there is no high velocity flow effect.
H Transect: Drillhole 78
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Log-Log plot of differential pressures squared vs. flowrate--used to identify the presence of
high-velocity flow effects (when the slope is greater than unity)
H Transect: Drillhole 78
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Final check for high velocity flow effects:
High velocity flow effects are préesent when the $lope is non-zero and posftlve
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